
Maths of the Month

Using what you know

7-9 February 2009	 © BEAM Education  www.beam.co.uk

The calculations on the left have all been done  
for you.

If you look at them carefully, you will see that  
they can help you do the calculations on the right.

Here is one example 
6 × 10 = 60		 so		  6 × 20 =  120 	 (just double the answer on the left)

Now do these. 

7 × 10 = 70		  so		  7 × 5 =		  (just halve the answer on the left)

3 × 8 = 24		  so		  6 × 8 =  

4 × 4 = 16		  so		  4 × 8 =  

5 × 4 = 20		  so		  5 × 40 =  

7 × 10 = 70		  so		  7 × 11 =  

2 × 10 = 20		  so		  2 × 20 =  

9 × 10 = 90		  so		  9 × 5 =  

6 × 3 = 18		  so		  6 × 6 = 


